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Write your eleven digits Register Number on the Question Paper as alotted in the
admission ticket in the space provided at the top right corner of this front page.
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This question paper has been sealed by reverse jacket. You have to cut on the right
side to open the Question Paper at the time of commencement of the examination.
Check whether al the pages of the question paper are intact.
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O.M.R Sheet will be provided subject wise separately.
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This Question Paper consists of three languages and each language has separate
guestion bookilet.

5. T amoby 40 TIOm, S TIFEFoI e 120 TIRGR, BR0OS.
() T e - JIRY g0, 01 003 40
(i) Qeeod R - TFAY 30D, 41 003 80
(iil) 32eod R / ST .OF.3R,0F — TINY 3RO, 81 007 120

40 Questions are provided against each subject. This question paper contains 120
guestionsinall.

(i) First Language — Question No 01 To 40
(i) Second Language — Question No 41 To 80
(i) Third Language / NSQF— Question No 81 To 120

6. T8 TP WO WOTATR, WY TJINYNL WIORWPYD FWOD Tere T

FOC3T emgdé& 20T WOTIT, IV emgdéé 03503 T3e INTIT WOINH
QUWROY.

Each question carriesone mark. Answering all the questionsis compulsory and each
correct answer will be awarded one mark. There will be no negative marking for
wrong answers.
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auﬁaé QITHR, Jerw® [PRT e LTIVOWIL WITINY 0T OTIIYTIe
OING, IR, £.20.8T°. (OMR) =S BRTWITT.
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DT ejofi% C oD, Ve BT LS TOOWOET DS T3N3 IS
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e

During the examination,
a) Readthe questions carefully.

b) Completely darken/shade the relevant oval against Question No. in the OMR
answer sheet using blue/black ball point pen. Do not try to alter the entry and not
to do any stray marks on OMR Sheet.

Example: Inthe question booklet, if Cisthe correct answer for Question No.20,

then in the OMR sheet, shade the option C using blue/black ball point pen as
follows.

Question No.: 20) A B©D (Thisisanexampleonly)
OO0

c) Do not fold, tear, wrinkle or staple on the OMR Shest.
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TOMEIR WOFNYRY, ACBRMORDY.

If more than one oval is shaded for a given question, such answer is treated as
wrong and no markswill be given.

9. L2080, (OMR) @heT® anos :g;cseg DHE TN BRTR  DCDLDTIR
3T Do [ITELC.

Student and Room Invigilator should signin the OMR sheet in the space provided.

10. [OeTy @B [ONT J0TT DTWONTID WWZORT L.200.85T7 (OMR)DD, 3083
30eQFTTON ITTIC WwRALIER.

Candidate should return the subj ect wise answered OM R sheet to the Room Invigilator
beforeleaving the examination hall.

11. 3esp, TOODF I, TIFDATOD BRFODY DR B3y, FoODF T ToTODYDE TIWTIHTD.

QS
Rough work can be done in the space provided at the end of the Question Booklet.

12. :0e5y BRBROINTT FEQSCLRT, BRGET AT DT ATV CSPPTE HSFTIT
QOTITLNTT), TRRTR, JREPRSONT.

The Calculator, mobiles and any other electronic equipment are not allowed inside
theexamination hall.
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BENT I3 TINOR/WTRLT TePINYR Towy, SORNRT, CBRNT. WINSY
BOCIRT LLITIT, 02 PR JeRTWLE OMR 033 TIFoDY 37/Aed Z0%W0B
LT ToOWOLFE FITROW BOBRT Bod0HT, 3e® TRRD.

Four choicesaregiven for each of thefollowing questions/incomplete statements.
Choose the correct answer among them and shade the correct option in the

OMR sheet given to you with a black / blue ball point pen. [40 x 1 = 40]
81) 55;5305 aémoﬁéoﬁa% Neagoho3W WHETITOR TTOOH TR/ [THH 2.0
508,
%
A)  OT FeINW B) &oner sednsd
C) A3 %edn D) 2001 3N

The option for helping computer users with physical disabilitiesis
A) Filterkeys B) Toggle keys

C) Sticky keys D) Serid keys

82) QIR MPIATT 3T, JF® DIy BT RFNATT, ReodeogE BOTIEBL

b g

WETRYTD.

A) RIS FReE B) X3¢ SBecers
C) RCOONCF Tpetse D) ONT° JweeeFe

Special devices like Sip, Puff and Breath switches can be connected to
computer using

A) Pardld port B) Web port

C) Serid port D) Air port
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84)

85)

A) T=03 T B) 03203903 ®023%
C) ©03®re TRe3 T0ss D) Bo0RF To¥ T03
Which of the following is NOT an advantage of Networking?
A) DataSharing B) Hardware Sharing

C) Internet Access Sharing D) Worksheet Sharing

THEIT BLRNE BeOBORT TAREBT DR WUNTLR IR SRMITTT
TE W 8T,

A)  3BnpeBesd B) b3 i
C) ob s D) 083 DPBS

The text or image included at the bottom of the page which repeats in all
pages of the document is called as

A) Header B) Page down

C) Footer D) PageBreak

RIST NroBeH0Z, BOENFRL, WRSRN® FOERTON TOTIFRT W

A)  NTF B) m, JT

C) JReEF D) oM7Y

The device which converts digital computer signals into analog signals
A)  Printer B) Scanner

C) Modem D) USB
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86) esoSo& =T wdsdeg 5:@@ eﬁg dﬁeé:n& dxac'e(; @g ONON Tne zﬁ.racsé @i dnm&
ﬁsg eﬂg ONON WHRORONTEN ST Q:SOSJ&.

A) N FeEF B) =eg dex
C) Trg sex D) o3 Bex°

The option used to convert small lettersto capital lettersand capital letters
to small lettersin the selected text is

A) Toggle case B) Lower case

C) Upper case D) Sentence case

87) IWxX o:id%ﬁ TOWORATOE,

2L

al D ek, BRRT TY, TERF, TYFOS IR WIW I BRI

(@2
e

@&"

63

A) SO, SRRT T, BRI, TY, X 35 T, 2T

B) ©03) Snaw wcﬁs AW, T, m@ﬁ@oé TRT TLREMED

C) eﬁoﬁ% BRAT T, WBWRT, T, —05%03 03 LT

D) ol I0RT IY, mRP, T, m@dd 80T WD

With reference to word processing,

Subscript : To make selected text lower than normal :: Superscript :
A)  Selected text beside normal text position

B)  Selected text away from normal text position

C) Selectedtext higher than normal text position

D)  Selected text behind normal text position
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88)

89)

90)

TFT RS WEPRTY, WRCRONTLY WEHITT SOk,

A) T, TFOTWRT 29 B) ©33 wey

C) ©gg édef) D) 33 mg

The option used to change the background colour of thetext is
A)  TextHighlight Colour B) Font Colour

C) Font Face D) Font Size

30T TOWARY, LeTARENAZAOW JNFH TIYOITT, TRTINCHLO WEEE
503,
3

A) TowFE B) &oT°

e

>8<9

o

9

C) 3% & D)
The option that helps to extract a particular data using some conditions is
A) Sort B) Filter

C) Syle D) Font

ST BeT?, 303,c0 DORACT RRTN IUR B3 tRWTT VRODY VPRT.
A)  DReF B) &

C) a3 D) &zge

The freeze panes option is available under windows group in the tab

A) Home B) View

C) Insert D) Display
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92)

93)

A)  BROFERODN FRNNY TOWOTTI, ERCOWT.

B) TZR03n¢ ©03Nn¢ SWIT TTIT FOWOTRZ, SRCOWTI.

C) ROOTT, 3R W) LTWW YO WWITITNYR, LIDOR.
D) R3¢ ©500Q TWIRMIT.

Similarity between Bar chart and a column chart isthat, they

A)  show relationship of partsto whole

B)  show co relation among data points

C) include cylinder, cone and pyramid subtypes

D) aredrawnintheform of circle

3E3RCTTSF @oﬂo&om O350 Mo ezsscbdagd ?

A) QBT B) X
C) 3, D) oot
Autosum option is available under which group?
A) Editing B) Cdls
C) Styles D) Font

ERC3NS 55‘3@2371@5534 35302, 3RC3NY mmﬁrwon‘* e.-mel WTSVOWREL )
WSTTYTH.

A) 2 TRRREF 0N B) =3, oRmFuon

C) BORERIL” TR F L30T D) =otFs & QT

To change the formatting of cells based on values in it, you make use of
A)  Colour formatting B) Textformatting

C) Conditional formatting D) Sortand Filter
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A) :3%3 Ssokay B) a3w'e Ssokay
C) axge D) BRexs s
The tab helpful to create chartsin a spreadshest is
A) Viewtab B) Insert tab

C) Displaytab D) Hometab

095) e WBeows® aﬁé cded R LT CRRITT T et &%w 603%0333
QDN BT RRTT)T.

A)  B[TELOT VWO

B) Q303 Toeod 08N

C) 3Re3ng Qodorvn

D) %o0dF oY TTo3NE e STYIVT B[IRTEX.

Allow changes by more than one user at the same time, the option that
helps to perform

A)  Workbook merging

B)  Sharing spreadsheet

C) Linkingof cells

D) Calculating data across worksheet
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96)

97)

98)

TRIOP BTV T, LPNTRY, ORI WEBORMT 08,

A) TOT BEF B) Bwrds

C) A= D) Reets

The option used to print only the text part of the presentation

A) Handout B) Ouitline

C) Slides D) Notes

TR eohY TPor® e:soSaéom R méw*s BROHY 0235;353.
LYIIIRAG B) «adwr

C) fagggma: D) oo

In a presentation, the sound option is available under thistab

A) Tables B) Insert

C) llustrations D) Font

TR3ODY TOTIFRCBLT, OB WEFHICTT 3.

A) TS B) @Jexs

C) R D) JRoLdena

To insert atransition to your presentation, the tab to be used is
A) Trangtion B) Duration

C) Animation D) Presentation
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A) 20T T S0X, BIRERYT

B) 0@ @33 FO0H, S0k, [SRWYID

C) 20T DIPOTIZ, BOD, VPWTYHT

D) 2.0m0 Bedodm), 03 [P
Thisisto be done to Categorize an appointments
A)  Select acolour

B) Selectafont style

C) Selectadate

D) Selectatime

100) RGOS S0TOITY 00O FweTh Qe HWRFOTT ?

A) OF, 20T, DRE B) 0T, 80N, IRE
C) O, 20N, A D) &F, w00, 0N

The three views supported to a calendaring software are

A) Day, Week, Year B) Week, Month, Year

C) Day, Month, Year D) Day, Week, Month

101) B3 3YBORRINSY BIVF)TH TBeEWCTR YVTOTTFBODY?

A) T3 B) ﬁaé%@emw—; Slry
C) &y 2F 3R D) O&zx° dweer
Which of the following is NOT an example of database?

A) ORACLE B) Microsoft Access
C) MySQL D) Rediffbol
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102) spes® %@“ﬁ BOWORATOS FPNT O30 LT BOCINT?
A)  TTOTTD, ¥IeT IRTINTY BOMLIGRMOTT

B) ©I903WD, 2000 3REHIBY BONGIOMIT
C) 20T BRI, FETT/I), WHA BRCTFNTR, BOTIF ATOMITT

D) TRZg IRRE B2903T JeTHR AT, WIBTMED

Which of the following statements is true with reference to a flat file?
A) Dataisstoredin multipletables

B) Dataisstoredinasingletable

C) Tablesarelinked usingacommon field

D) Itisusedto storelarge amount of data

103) 2.0t Beeewden’ SO BRPYTRE TRRPTEFT 35371@;35:01 TOTReTED WL dem%w@
A) SRIOFT B) 30
C) eﬁ%msmase D) et &
The datatype used for storing files of any format in a database is
A)  Numeric B) Binary

C) Alphanumeric D) Datetime
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A) BT B) omdes

C) wF D) 30%eeF

The statement used to add new records to the database is
A) DELETE B) UPDATE

C) INSERT D) CREATE

105) 207 8eeERLITHLT Tolo 01T, B0 I eeHTL WIBRLNTLT

PN
A)  BReEF B) &3,
C) B D) 30o2moe

The tool is used to join information from different tables and filter the
information is

A) Table B) Query

C) Row D) Column

106) E3CSTR 2,00 OTIOR, THTLIWT OTF, §¢€?
A) TROT B¢ B) % @d@s
C) I 00 8¢ D) «aT°@dF, 8¢
The unique key that identifiesarow in atableis?
A) Foreignkey B) Flatfile

C) Primary key D) Indexkey
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A) [T WT Y B) %

C) 3Bwe D) e B3T®

In a spread sheet, the Break option is available under which group?

A)  Work book view B) View

C) Show D) Page Setup

108) 2.0% 95w %as% ma)dneémel TBeECTEAOW SRONLL WEBOIMTE LS

A)  OTFBeLT B) &DeeF

C) agw‘ 3 D) 3odees

The statement which is used to remove one or more records in a database
A) UPDATE B) DELETE

C) INSERT D) CREATE

109) TmReEANY WAL, Qo [pwmen, Y-FNOT SREL BR0wT
LVOERNRWTDT NFOWT

A)  TRIHERIIT MOZ, BUWPOIT

B) TmR@edds mog s@d03neSss
C) TRRERIT MO, WTURMPHOY

D) TREeRINT FoRIEET TR

When you embed objectsin a document, you may havetrouble for emailing
because,

A) The size of document increases
B) The size of document decreases
C) Thesizeof document remains same

D) Theformat of document changes
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A) 2 B) 3
C) 4 D) 1
Number of types of page orientation is

A) 2 B) 3

C) 4 D) 1

111) aasﬁote’cé‘ O, &oaa@@%w VT3 RCNTT @o&ﬁ
A) TR B) =eFe
C) Xedy D) Zow®
The option used to share a calender is
A)  Publish B) Search

C) Add D) Send

112) S8 03,030 O3 3PS WRODY VFNTHTR?
A) B) 0%
C) QADeRT D) axfR&rs
Chart option is available under which tab?
A) View B) Review

C) Animation D) Insert
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113) It started raining we went out.
A) assoon as B) because
C) however D) athough

114) " Ravi has changed the curtains of the bedroom" Select the option that isin
passive voice

A) The curtains of the bedroom have been changed by Ravi
B) Thecurtains of Ravi's bedroom are changed

C) Ravi changed the curtains of the bedroom

D) Curtains of the bedroom changed by Ravi

115) The garden is beside the schoal.
The meaning of the underlined word in the above sentence is

A) Nextto B) Behind

C) Opposite D) Above

116) "I am going to market". The verb in the given sentenceis
A) lam B) going

C) to D) maket
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117) Helping verbs are known as

A) Modals

C) Speech

B) Voice

D) Adverbs

118) Identify the future continuous tense of the sentence

"1 contacted my Doctor"

A) | am contacting my Doctor

B) I will be contacting my Doctor

C) | had contacted my Doctor

D) | would be contacting my doctor

119) The robber was disappointed to find a few coinsin the locker

The underlined word in the above sentence is a/an

A)  Quantifier B) Artcle
C) Preposition D) Adverb
120) The book store is just the street.
A) under B) across
C) below D) to
GO O
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